Epicykloida — predizena

c>r>0, R>0

x = (R+r)cos % — ccos (R'Er) = (R+r)sin & —csin (R;')t, tER.,
x = (R+r)cos ¢ — ccos M, y = (R+r)siny — csin (R+r) , pER.
= (1+m)rcos £ — 3 cos (lt:r)t x = (14m)rcosp — 2 cos (1+7)p
y = (14m)rsin % — % sin (It:r)t y = (14m)rsinp — T sin (1+7)¢p
te (0; 19.4779 p€(0; 6.2
( ) Yy R—rrc— % Yy pE( )
€T XT

K

t=0
[KI<TQ>I> 1] [=]el+]

beerb@frcatel.fri.uniza.sk

=0
E!@@EHEII

http://frcatel.fri.uniza.sk/ beerb



mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb



